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Anybody with a school computer and having problems taking tests on
WebAssign with the lock-down browser?

I need your tag number off your laptop.
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21. [-/2 Points] DETAILS SCALCS 2.5.078. PRACTICE ANOTF

A model for the length of daylight (in hours) in Philadelphia on the tth day of the year is

) 21
L(t) =12 + 2.8 sin[;gg (t - 30}]_ == L/(F) = 28 cos {Z‘E; (b—eo))[ié’

Use this model to compare how the number of hours of daylight is increasing in Philadelphia on and May 21.

(Assume there are 365 days in a year. Round your answers to four decimal places.)
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18. [-/2 Points] SCALC8 2.5.063.
h ()= Fony —=

A table of values for f, g, f ', and g’ is given.
W6 = Pl g ')

x | f(x) g(x) f'(x) g'(x)

1 3 2 4 [3 _C

2 1 8 5 7 = i . éj-
3 7 2 7 9 dy Ay

(a) If h(x) = flg(x)), find A'(1).

M= x — .
‘ = y (I\\ ' ‘\
(b) If H(x) = g(f(x)), find H'(2). = /') ‘p [7 9

W =[x - £
_ S =30
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19. [-/2 Points] DETAILS SCALCS 2.5.076.

If the equation of motion of a particle is given by s = A cos(wt + §), the particle is said to undergo simple harmonic
motion.

(a) Find the velocity of the particle at time t. S ['P) = A(‘S"h[a’ & ”"Q}) (w)

=0 = X = - WA s.:.[co‘\: 9)

(b) When is the velocity 0? (Use n as the arbitrary integer.)

—-——-"':
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X Colve € ()=0
~whsclut+Q\ =0
S~ [w%:J—i\‘-‘-O
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Section 2.6 - Implicit Differentiation.

4. [-/1 Points] DETAILS SCALCS 2.6.014.

Find dy/dx by implicit differentiation.
Sy sin(xzjl = 9x sin(}fz) —

]

y:

3;‘

N.g.u’
sj’s&&*) +y (e3sl) (axy) = F o=l + ¥ leos(y™ - 2y-y )
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Ssin (r?) — 18xy cos (y?)
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25-32 Use implicit differentiation to find an equation of the
tangent line to the curve at the given point.

25. ysin2x = xcos 2y, (w/2,w/4)

~ ngih Gv) +7[605A¥\)'2) = G,O.Sé‘]\ + x(“':"(q"j\)'iy )
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' Writing Project #1 Stuff

»’3
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Y= e 3,
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y' =

6. (10 pts) Find an equation of the tangent line to f(x)=cos(x) at x= % Then sketch the graph of this

B3+ ( .u),;/)))

situation, with the function and its tangent line, together on the same set of axes.
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7. (5 pts) Use your result from the previous problem to approximate 003(40“)

“Thae ,UL.,—QO 4;\.‘41’— 5 whml‘j 0% 4o /l«A’“"*$-
- o
@) = (1575° ) ier
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